I
| ITs matriy A - ' satifles A" < kA" then the valoe of k i

ihin PIRM
RIN] i4) I
a7
2 . ’
. A =k amid | A 125, then the value of k s
i 4 (2)+2
133 i4) 8

L A s 8 square matriy sutisfving the equation A° &4+ 71 = 0, where | the kdentity matriv and o
s null matriv of same order, then \ '

mim A) I Py

l.‘lél\ h E U] B

4 A o square matriy of order 3« 1 det A =~ 4 then the salue of det (34 ') is

I
e 12
(RIR 42
I 3
£ WH- | be the adjoint of & matrix A and A = 2 then the value of s
i3 (ME
RIE] 42

6. The system of cquathons 43 + 6y © Sand ¥ ¢ 12y < 10 has
(1) Only two solutions 12) No salution

(3) lnfinitely many solutions (41 A unique solution

SPACE FOR ROUGH WORX
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s a=i+2f+k. b

i =j+ 4k and ¢ i+ J+ k are such that a+) f;h perpendicular to ¢, then the
value of & s

(nHo
(2

4) 1

(3) -1

K. Mal-10h =2and a . b~ II.thrnihr\ahlcnf'..-l;'h

(310 ()14

Consider the following statements:

Statement (1) : If either | ll “0Oor| h =0, then Il.h L
Statement (1) : Il’a- . h Il then l is perpendicular to I;.
Which of the following is correct?

(1) Both Statement (1) and Statement (11) are false

(2) Statement (1) is true but Statement (11) is false

(3) Statement (1) is false but Statement (1) is true

(4) Both Statement (1) and Statement (11) are true

10, 11 a line makes angles 907, 600 and O with x. v and 7 aves respectively, where 0 is acute, then the
value of U is

X n
IIIE t!l;
X id
3y 3
’ x-1 vel z-1
11.  The equation of the line through the point (0, 1, 2) and perpendicular to the line 3 o
i .
)  v-1 z2-2
-yt oz=2 @3= 3
341 3 4
) v vl z-2
i3 ' y-f z2-° AU 3
14 3 2l

s 2MO0417K25 c2



A line passes through ( 1. 1) and perpendicular to 1 ¢ 63 & Jtx v intercept is

th2 12:%
y 1 )
(R]] : 4 a
13 The length of the latus rectum of 1 - Wl
2
(24 unis |2r'i units
| 4
L‘I“‘ units 4= unins
1
4
1
4 dim oY
LR IENE T |
|
|lnE (o
h? (4) does not exist
15 1y = ™" ihen
1+sinx
(1) | '
() = = |h|d" = !
dyv | +simx dv 1 -siny
dy 1 , = x s
(¢) = = sec” -~ 1t|ld“ !u-c‘ T
dx 2 4 2 v 2 4 2
11) Both b and d are correct
(2) Only b is correct
(3 Oniy abs correct
i4) Both a and ¢ are correct
SPACE FOR ROUGH WORK
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16, Match the following:

In the '0““““"" I" denotes the ult‘!ll“'

integer less than o

r equal to x.

('nlumn-"
Shvaiet (h continuous in(=-1.1)
(m) (WY
b (i) differentiable in (1. 1)
(h)
vivd
(©) l (i) strictly increasing in(-1,1)
C L SR ‘I
(d) 1 | (iv) not differentiable at, at
* *
& ' | leust one pointin (=1, 1)
, di, ¢ - iv, d —iii
(Ha - dilb dlc—iv,d-i (2)a-i,b-iic
(Ma-iv b iikc—id-il (4) 3 —ii,b—iv.c—ili.d -1
etean , x<l =0. Then
17. The function [ (x) = l by 1 . 2 is differentiable at x = U.
v, xe
(Hha=3b=-I ()a=1.b=1
(MHa=3 b=1 (Ha=-3b=1
I18. A function
1
e -1
l'(" = 1 . " = “
t‘- ‘.I . i‘
0 , irx=0
(1) differentiable at x = 0, but not continuous at x = 0
(2) continuous at x = 0
(3) not continuous at x = 0
(4) differentiable at x = 0
SPACE FOR ROUGH WORK
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) h
19, Iy « 4 sin oy s oacos't then o att 4 s
149 (2) |
in "
0 1 (4 3
5
R
200 The derivative of sin v with respect 1o log v s
'h(‘l.n\ i2rens
\
cos\
4
(3) % cos i logy
2. The minimum valuc of 1 sin v is
(n?2 ()0
'-" ' I-‘l I
22. Ihe function f(x) - tan
(1) neither increases nor decreases
(2) always increases
(3) alwavs decreases
(4) mever increases
23 Th I ‘. v
23, ¢ value of
A= 2)
SR |
(1) log - C (2) log
-2 AN
L |
(3 log 51+ € 4 log
x-2 X -
! 5
4
24. The value of | sin v cos™s dy is
I
(tho 12y =/2
(3= (4) /2

SPACE FOR ROUGH WORK
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L
‘N

14

I »ln \
hevalucof | 1 - sin
Fa

(o
R |

dx
v cqunls

‘2,4 ~
Vit e 4

th lug‘__

RILL

I he area bounded by the curve y = sin

(1) 3 sq. units

|
3 3% units

I'he arca of the region bounded by the curve

128
(nh A sq. unity

28
3 = 2 sq. units
3

dy s

v axis, the lines x

(21

(4 log 2

(219 sq. units

(4) 6 5. units

v and the line y

(2) =7 sq. units
3

64
4 units

0and x = 37 is

16 is

SPACE FOR ROUGH WORK
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0,

.

R R

dy sec V18

| D TTT U
General solution of the differential cquation dv :
- r c
(2)s sec © TLR!

llnm\."n_\“_ -
~ytanx ¢

osec VA
'-“.‘llll\vm«\.( (4) e

) jable equation
118" and b are the order and degree respectivel of the different

y 2 3
d*y &

3 | ¥ = sx'=0.thena - b -
dx* dx
o MR
H2 4 -1

I'he distance of the point P(-3, 4. %) from vz plane Is

(1) 3 units (1) 4 units

(3) £ unity (4) 3 units

ITA = {x: xis an integer and v* 9 = 0)

B = |x: vis a natural number and 2 < x < §)

C = {x: vis a prime number = 4}

Then(B () Als,
(1 2.3 8 (PAREK RN
(3)12,3, 4} 4) (3. 4.5

A and B are two sets having 3 and 6 clements respectively.
Consider the following statements.

Statement (1): Minimum number of elements in A Bis 3
Statement (11): Maximum number of elements in A Bis 3
Which of the following is correct?

(1) Both statements (1) and (1) are false

(2) Statement (1) is true, statement (11) is false

(3) Statement (1) is false, statement (1) is true

(4) Both statements (1) and (1) are true

16
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I8 I is
Yomain o the function 1, given by fiv) y g)
: A shIN
ALLTE N T IPT PIYE ] I L
(3 (-, 2) L (& 1) Y II LN
LT 1} fiv) “nll:h sin| !:“_ where [v] = prvafest integer = %, then ‘llll.‘h of "”
not trye .
(h fix) I ()i =0
T 1
LI T I
2 4 v2
7. Which of the following is not correct?
(1) tan 4% « 140 (1129, 12) cos &x = cos 4n
(3)sin 2x = sim ( 2m) (41 sin 4x - sin ox

N, ITcon v+ con’ x = 1. them the value of sin « * sin® t is
iy 2 21
RIN | 40

39, The mean devyiation about the mean for the data 4, 7, 89, 10, 12, 13, 17 Is
(1y4.02 2y 10

(H3 (41 X.8

40. A random cxperiment has five outcomes wowow . ow and w_. The probabilities of the occr

of the outcomes w . w .. w_and w,_are respectively % ,a, band _l% such that 12a - I

I'hen the probabilities of occurrence of the outcome w s

il : i2) 2
13 R
| I
r.hT |-l|-':_
e — _—______..—r
SPACEFORROUG}-lWDﬂK
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es cach with number 2" and 4y, fac

three fac ¢
I1h

4L A dic bas two faces cach with mumber ‘1

number "V AIf the die is rolled once, then PO ot V) s

‘I| _:T 1:' -:.l'

|
Y _“r_ i) 1
i - ining (h. c) i

42. Let A\ I“ b. c!. then the number of i.'qllhlh'"l't relahons on A containing (H, )i

n4 (AR

RIR! 42

.

43, Let the functions " and o' be f: II,: « Rgiven by fin) = sin v and g: | 0, 2 *R Ziven b

g2(x) = cos v, where R is the set of real numbers

Consider the following statements:

Statement (I): fand g are one-one

Statement (11): 1 + g is one-one

Which of the following is correct”

(1) Both statements (1) and (1) are false

(2) Statement (1) is true, statement (1) is Talse

(3) Statement (1) is false, statement (11) is true

(4) Both statements (1) and (11) are true
44. sec’ (tan '2) + cosec’ (cot ' V) =

(nH1o (251

(3) s (4) 18
45, 2con " w=sin ' 2x 1 «f  Is valid for all values of 'y’ satisfyving

1
(h —=zxzl (2)0 <y !
W 2 Y Z
3)-1=x=l 4 0<y-|
SPACE FOR ROUGH WORK
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47

Consider the following statements:
Ve lincar.

Statement (1) In a L PP, the objective function is alwa
Jes are called constraints,

Statement (11): In o | PP, the linear incqualitics of yvariab
Which of the following is correct”

(1) Statement (1) is false, Statement (1) i true

(2) Statement (1) s true, Statement (11 s truc

(3) Statement (1) bs true, Statement (1) is false

14) Both Statements (1) and (1) are false
ey = 40,0+ 2y = 60 and o

The masimum salue of z = 3y + 4y, subject to the constraints ¥ >0p
1) 40 (1 130
RIW M (4) 140

 onsider the following stalemonts.

Statement (1) IT F and | arc two independent events, then ¢ and I arc also independent.

Statement (11): Twe mutually exclusive events with non-zero probabilities of occurrence cannot e

independent.
W hich of the following is correct?
(1) Both the statements are false
(2) Statement (1) is truc and statement (11) is false

(3) Statement (1) s false and statement (11) is true

(4) Both the statements are (rue

If A and B are two pnon-mutually exclusive events such that PIA By - P(B A), then

449,
(L Ay = P
(2)A BbutA-B
(A~ B
A B=9
-
SPACE FOR ROUGH WORK
22 2MO417K 25 ¢



“n

51

. following is cor “
1A and B are twa cveats such that A K and Pl - 0, then which of the L recy

th A= R

"B

- . i
(PR R Y ™ A

(O PAR) - Py

4 POATR) - oy

Meera visits only one of the two temples A and B in her locality. Probability that she visits tempic

)
: . whereas it is — if
\ s T I she visits temple A, _"i_ is the probability that she meets her friend, whereas - If she

visits temple B. Meers met her friend at one of the two temples. The probability that she met her

temple B s
9 .7
™ 12) —
il T TS
s 3
1y () —
T 6

I1Z and Z, arc two non-zero complex numbers, then which of the following is not truc:

24
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0.

L%

Comskder the following statements:

Statementili: The set of all solutions of the linear inequalities 11 * S
v Vand v - 2 respectively,

Statementi11): The common set of solutions of lincar incqualities 33 « ¥ < 17 and v K =12k @)

Which of the following is true?

(1) Both the statements are fakse

(2) Statement (1) s trae but statement (11) is false

(N Statement (1) s Talse but statement (1) is true

i4) Bath the statements are truc

The number of four dight even number that can be formed using the digits 0. 1. 2 and 3} without

repetition s

i I
RIRL 4
I he number of diagonals that can be drawn in an sctagon s
il o (218

RIP i4) 2%

If the number of terms in the binomial expansion of (2x - 3)'" is 22. then the value of nbs
ine (P{L.

RN 4)7

I 4™, 10™ and 16™ terms of 3 G.P. are 1. v and z respectively, then

-

ithy = ——

hd

(2re=  xy
(RIBTERYE ¥
4 ‘\,,
SPACE FOR ROUGH WORK
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&N, If A ds & square matriy such that A° < A then(l Ay s
in-1-A
- A
(RIS
A
S9. I A and B arc two matrices such that AB is un identity matrixv and the order of matriv Bis 3 - 4,
then the order of matrix A is
ih4-4 (MEREE!
MIx] 44 -1
o0, Which of the following statements is not correct?
(1 A skew ssmmetric matriv has all diagonal elements equal to zero
(2) A row matriv has only one row
(3) A diagonal matriy has all disgonal elements equal to rero
(4) A symmetric matrix A is & square matriv satisfying A\ = A
SPACE FOR ROUGH WORK
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